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QUESTION 1

Which one of the following SAS programs uses the most amount of memory resources for output buffers?
A. data new(bufsize = 1000 bufno = 5); set temp; run;

B. data new(bufsize = 1000 bufno = 2); set temp; run;

C. data new(bufsize = 2000 bufno = 3); set temp; run;

D. data new(bufsize = 4000 bufno = 1); set temp; run;

Correct Answer: C

QUESTION 2

The following SAS program is submitted:

options yearcutoff = 1950;

%macro y2kopt(date);

%if anddate >= 14610 %then %do;

options yearcutoff = 2000;

%end;

%else %do;

options yearcutoff = 1900;

%end;

%mend;

data _null_;

date = "01jan2000"d;

call symput("date” left(date));

run;

%y2kopt(anddate)

The SAS date for January 1, 2000 is 14610 and the SAS system option for YEARCUTOFF is set to 1920 prior to
submitting the above program. Which one of the following is the value of YEARCUTOFF when the macro finishes
execution?

A. 1900

B. 1920
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C. 1950

D. 2000

Correct Answer: D

QUESTION 3

Which one of the following options displays the value of a macro variable in the SAS log?
A. MACRO

B. SOURCE

C. SOURCE2

D. SYMBOLGEN

Correct Answer: D

QUESTION 4

Which of the following statement(s) in the DATASETS procedure alters the name of a SAS data set stored in a SAS
data library?

A. RENAME statement only
B. CHANGE statement only
C. MODIFY and RENAME statements
D. MODIFY and CHANGE statements

Correct Answer: B

QUESTION 5

Which one of the following is true regarding the KEEP statement?

A. The KEEP statement is available in both the DATA and the PROC steps.

B. The KEEP statement selects the variables read from the input data set(s).

C. The KEEP statement applies to all data sets created within the same DATA step.

D. The KEEP statement applies only to the first data set created within the same DATA step if more than one data set is
created.

Correct Answer: C
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